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N| N [ NInN—-1)+2ZN T NN —1)
10| 15.104 15.096 13.026

50 | 148.478 148.476 145.601
100 | 363.739 363.739 360.517
200 | 863.232 863.232 859.663
1000 | 5912.13 5912.13 5907.76

#p 000000000 4In(2rr) 0000000 negligible small.(ex) n = 10** — nlnn=>5.3 x 10°*,In(2mn)/2=27.4
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gbobobobUbebbbooboboboboobooboboboboboobooboboobobooobo

U 1400000000

EFE=FErp+FEs+e=Fr+FEg=00 (4.1)

000000000000 0000000000000000000000000 SO0000000
0000000000000000000000000000000000000000000000
0000000000000000000000000000000000 70000000000
0000000000000000000000000000000000000000000000
0000000000000000700000000000000 E;0000000000400
000000000000 SO I00000000000000:00000:0000000 E;00
000000000000000000000 G;0000%»0R+5S00000000000 Wy(E)
000000000000000000000

Wr(E) =Y Gix Wg(E - E;) = Gy - Wg(E — E1) + Go - Wgr(E — E) + - (4.2)

(2

000000000 Wg(E—-E;) OO ROODDOOOO (F—-E)00O0O0ODOOOOOODOOOOOO
Odo0o0oo0ooooooooOoooo roooooo.00o00oo0oooooa
Gy Wa(E-EB)

Wr(E)
oodoooobOood p, 00000000000 DOOO00000 ROODDODOOOO SgOO0OO00O
Boltzmann OO O ODOO0OO0O0OO0OOOOOOO

Di (4.3)

Wr(E — E;) = exp [Sr(E — E;)/ks] (4.4)

E, < E0D00O0O0O Sp(F—-E)0O00OO0O0OOOODO

B dSr 1 _,8Sk

+o- (4.5)

#¥,00000000000000000000 GOOOOOOO
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goboooboooon

(o), 1

T
4.6
7Y (L2) A (Z) kol o
OE? OET T2\9E ), T? Cy
oooood

E; E 1
SR(E—E,-):SR(E)—Z<1+VR+--->

g 2T Cf (4.7)

= Sr(E) = =

Joooboooboobooooon C{}DDDDDDD 1/C§'DDDDDDDDDDDDDDDD(4.4)D
WR(E—EZ') :eXp[SR/kB—EZ'/kBT]
= Cexp(~Ei/kpT)  (C = e1/ks)

gooooogon
E;

pi(E;) = T

WT ) = %Gz exp(—Ei/k:BT) (48)

00000 @8) 0000000000000 ooOOO00oOD0DUDOoOOLODOODOOODOOOO
0000000000000000000000000000%*0

4-1. 000000000

ugbogoobooboboguoboobooobobuooboboobooboboooobooon
oobobooooooboobooooooboboobooboooooobobobooLDoTOOn
gboooboooboboobobooboboobooooobooboooboobobooboboon
gopbodoboooobooboooobooboobodp,ooboonoobo

Z Zaexp< kT) |

(4.9)
L= ZGGX Ei
P\ " kgT
Z00D0OO00O0DOO0O0OD0OO0OO00DO0000G;0 000000000000 000ooonoon
G, _ LN qd®*Np (4.10)

n3N

0000000000 G0 Boltzmann OO O O0OOOO0OO0OO0DOOOOODOOOOOO4.9 060
00000 rogoo0000oo0000o0o0o0UoOoO0000DoLOO0O0DU0LUoOoOO0 Hg,p)
oobooooooobo

Z(N,V,T) exp [—H(q,p)/kpT)d*Nqd*Np
th/ / (4.11)

Z(N,V,T) N'h3N/ /exp (q,p)/kpT)d*Nqd*p

o0000o0oOO00200000000000000H(q,p)00000O0O0OODOOOOOOOOOO
gooog

24(4.8) 0 Maxwell-Boltzmann 0 0000000 OM-BOUOD 100000000 ¢, 0000000000 OODOO
OO0, 00:0000000000000O00
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000000000 E~E+dE00OOOOODODODO QE)MEODDD?

UEME= ) G (4.12)
E<E;<E+dE

00000000000 E~E+dEODOOOO p(E)dEOOODODODO

1
p(E)dE = =Q(E)e PEdE

2 (4.13)
Z—/)mmeMME
0
0000000000000 000000000000000000000000000000
00000000
(48)00000 p;000000000000000000000000 (E)O
1 10Z  0lnZz
E)= By = — B PP = _Z 2 —
<>Z) ZZG6 7 03 98
i i | (4.14)
dlnZ1N,V,T
= kpgT? A = 1/kgT
B 5T (B=1/kBT)
000000000000 (E)00000000000000000000000
OHermholtzOOOODOOOO
(4.14)00
oz (E)
k =/ 4.1
Bror T 12 (4.15)
00 0Hermholtz 00000000 F=U—TS0O0
o (F F 1[0F 1 U
[6T‘<T>}V, IQ_+1“[8T]V- 2P+ T8) =7
000 (E)=U0000
8<F> 0
— (=) =—kg—=IZON,V,T)
oT \ T oT (4.16)
o, F(N,V,T) = —kgTI Z(N,V,T)
ooooooooon
oF olnZz
= = = —knT 4.17
u (aN)W s (4.17)
ooooooo,o00 P
OF dlnZ (E)
S=—(2=) —kgmZ+kpT —kglnZ 4+ 1
<aT)V /L S
(4.18)

olnZz
P=—(2) =kgT
(av)T, BEov

PQE)DDOCDOC0
*(E)=P(E)EdE0D00O0 OK.
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4-2. 00000000000

vdboodoboooodoooooodgoooodoooooodoooobodgoodd pyd
L 9
545P; (a; > 0) (4.19)
gobooooooooooooooooooooooodoooo,oooboooobobp;0000

goo

0 1 2rkpT
/ exp <—2ajp?/kBT) dp; = B (4.20)

— 00 aj
0000000000000 kT OOOOO (Z(N,V,T)=+kgTZ'(N,V,T)000000000
goooood

0 0
2 2
E= k:BTa InZ = kT@

00 kgT/200000000000000000000000 0O00000ODODOOOO

1 1

1
5bz-qf (bi > 0) (4.22)

gboobouobobooboobobobooboboban @DDDDDDDDDDDDD kgT/2
0000000000O0000000000 (4.19)0 422)0000000000000000O0O0O
000 kg7T/200000000000000O0000000O0DOO0OOOOODOOODODOOOOODO
gobo.oobooboboooboobooboooboooobooboobo20b000b000booboooDn
000000000 1000000 kgT/20000000000000000O0COODODOOOOOO
gobooboooboooogo

gb.000 NODOD VOooo Troobobobobobobobob
Ans) J000OO0O0O0OOOOOO N!OODDOOODOOOOOOODOO

Z(N,V,T) N|h3N/ /exp (q,p)/kpT)d*Nqd*Np (4.23)

N
1
0000000000000000¢O0000p000000 H(p):ZTpZDDDD(4.23)DD
=1
000000000000 VvNOOOOOOOOOoOO

p?
Z(N,V,T) NthN/ /e p( b T) dp1---dpsn

pQ 3N
N!h3N [ /_OoeXp( 2kaT) dp} (4.24)

VN OmmkpT PP VN (mkpT\ PN
N h? ~ON!\ 27R?

00000000000000StirlingD00 InN!'=NIhN-NODODOO
27rkaT)3/2

h2

:N{l—i-ln — %

InZ(N,V,T) = NInV —InN!+ Nln <
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} (4.26)

D00000000000HelmholtzDODODOODD00 (4.16)00
V<27rkaT>3/2

h2
} (4.27)

F(N,V,T) = —kgTInZ = —NkgT {1 +1n

goboooooboog

2rmkgT 3/2
h2

F(N,V,T) = —kgTInZ = —NkgT {1 +1n

olnzZ 3 I(E) 3
(E) = kpT* = “NkgT, Cy = () — “Nkjp
or 2 or )

E
S(N,V,T) = kBan+<T> szB{5+ln

2 N h2
olnZ NkgT
P(N,V,T) = kgT =
(N.V.T) = kpT =5 %
oF olnZ V [ 2nmkpT\ >
NV.T) = | — = kT = —kpTIn{ — | ————
ooooooon
0001000000000000D0 (3.74)00
2mmkpgT 3/2
lev<h2 )
000000000000 NOOODDOOOoOoOooOoOooooooo
VN (ommkpT\*NV? 1

gobooboobbooboobobooboobbobbooboob
oNOOODbOoobooobooobboobooooobooo

H—' (2])1+2mw2x12)
i=1
oon
N
1 1 p? 1 N
Z:/-'-/ex - <Z+ mwx)d xd
[y P k;BT; 2m 2 g (4.29)
=N
DDDDDDDDDDDZ1DIDDDDDDDDDDDDD
1 kT
// exp[ T <p+2mwa:>}dxdp— f]‘ng (4.30)

gbo.0obooobgooboobdmUO NODUOODOODOODOOD
oo0OSsSOoOoooooOoOoooooooOooooooooooooooDooo
OO00OO00000OO00bO HelmholtzOOOODOOOODOOODOOOD
gooooboognd

Ans)1 00000000000

1
H = %(p§+p§+p§)+mgz (4.31)
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Z1 = Zgje_ﬁH

mgz
=33 / / [ kg T(pm+py+pz) k:BT] dzdydzdpydpydp:

goboboobobobobobobobobobo 4770

armkpT\>/% [ mgz 2rmksT\>? kT
Zy = (0BT ) 4 - dz = [ 25282 ) 4mBo
' < h? ) /0 P kT ‘ h? mg

0000000000000
gLy 1 2mmkpT\ ™2 (kpT \™
CONUTE NI R2
D000 HermholtzODOOODOOODODOOOOO0OODO

3 27kaBT AkZBT
F=—-kpTlhZ =—-NkgT |1+ -In| —— 1
v 7 [+2n< h? )—i—n(ng)}

olnZ 3 5
E =kgT? = “NkgT + NkgT = =NkgT
kg a7 5 kT + Nkp 5 kp
OFE 5
= (=) =Nk
Cv <8T> 2" "B
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(4.32)

(4.33)

(4.34)

(4.35)

000000000000000 3Nkp/200000000000O0C0OODOOOOOOOOOOO

goboooboooboboobooooboobooobbooboobbooboobbooo

gbolioooboboobooboboooboobooobooboooboooboboobobooboon

gpoboooooo
Ans)1000000000000OOO0OOO0OODO (430000

2
= om 2" " Thw

gboboboboboooooooooooooon

L[> sm oy _ 1 [% 5 55 1
<3:)—h/_ooxeﬁ d:ndp/Zl—O, <$>—h/_oo:):ef6 dxdp ZIZW

1 [ 1 [
(p) = h/ pe—ﬁHdiUdp/Zl =0, (p*)= h/ pze_ﬁHdiUdp/& = %

gobodbooooboobooobooboo

Az = /((z —(2))?) = V{2?) = 2(x)(2) + (2)? = V/(2?) = (@) = ||~

Ap =/ (p*) — (p)* = VmkpT

gobodoooboobobooboobboobuoobbooboobobon

1 1 1
—— {p? = — — 2/42 — —
2m<p ) 2k:BT, 2mu} (q°) 2k‘BT

gbooboboboboboooboboooooooooooooooooo

010.0000000000p0ABO20000NOO0DDOOOOOOODODOOOOOO

gobodboobbuoobooobboobuoobbobobuooboobbooboo

(4.36)

(4.37)

(4.38)

(4.39)

PODO
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v=p -E=—p€cosb; (|| =p, |E|=E) (4.40)

200000000000O0DbOO0ObO0O0bOobDOo0bobOoDbOobOOn
gboooooo

1
H = 2mAp?4+ ST sz—MECOSG
> 4.41
L pr e L (22— cos -
T oM o \P0 T GinZg | T 1O

000 P, P, P,0000000000p,, pp00006,¢00000000M =ma+mp00000
I000000000000000

000000000000 £,000000000000 40000000 Z,™0000000
00000 2000000000000

Zl — thrans . erot (442)

O000ooZytres g

trans P2 + P2 + P2
Z1 =13 / / exp TNk T kBT drdydzdP,dP,dP,

|7 P2+ P2+ P2
— (_imd;TdRﬂﬂﬂg (4.43)

- [ /{

U000 pg,pp 000000000000 DOO00O0000O0O0OO0OOO000

7" = 27TIkBT/ dgb/ df exp <,u5 COSQ) sin 6

2
1 2 Py
- 0| b dododpyd 4.44
21<p+sin29> MECOS]} pdpedpg (4.44)

h2 kgT
(4.45)
(27rkBT)2Ie puE o ué <
=—F—-F"—|exp| ——= ) —exp| ———=
B2 P\ kpT P\ Tk )|/ #
0000000000000 Z0O0 Z; 0 NOO N'OOOOOOOOOOOo
AIN,V,T) = — 7N (4.46)

NI
OO000UOHelmholtzOOODOOOOO

trans
F:—@TmZ:—N@T@«3W,>+mam+q (4.47)
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1 (oF _ NkpT 0lnZ;"
A A
K pE \ _ kT (4.48)
— Pleoth [ 2= ) = 2B )
4 [CO </<?BT> M(‘:]
N
_Np(nE
\%4 kT
1.0 -
O00000L(z)0 Langevin 000000000 OOO0OOOO L(x)
\
1 0.5+ 3
L(x) = cothz — - : z/3—a23/45
0000000000 uExkgTOOOnO
€T .’173 | | | | T
~T T 1 2 3
L(x) 3 45+ \
0oo0ooog )
N
i 4.49
V 3kpgT ( )

0000000000 DOODO POOUODD=¢E+4rPO000c0e=D/E0000O0O0O0OO0OO

goooooo

Ar N
— 1R 4.50
SR W v (4.50)

4-3.00000

goopoooooooooguoooogoooooooooo o oo oo oooog
Oij

oooooo fij

2rp \/ Tij ) / Tij

O 15: 000000

000000000 0000000000000 é(r;) 000000000000000000
000000000000000
N 2
HZE:%E+§}%~ (OO0 ¢y = o(ryy)) (4.51)
i—1 i<j
r;00040j00000000000 ¢(ry)0 ¢; 0000000000000 (411)000000
0ooooo
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Z = N,th/'--/e‘H/kBTdmdyldm-~-dchdyNdszpxldpy1dpz1---dpszpyNdpzN (4.52)
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1 (2rmkpT\*N?
Z _— < [ exp de)i’j/k‘BT dxidiyrdzy - - - dxydyndzy

TN\ R :
i<j (4.53)
1 [ 2mmkgT 3N/2
“v\ e ) @

googoaoodad

exp (=i /kpT) = 1+ fi (4.54)
O00000f;0000000¢0000000000-,;,00000000000000000 f; =00
00000000 15000000000000000000000000000000000%00
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0Mm@454)0 0000, 000000000000000000
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0000004 j0000000NCOOOOD 1000000000 0O0O00O0 NCa=N(N-1)/20
gpoobooopoobooogd

(4.55)

N(N -1
(Z)VN2 / / frodzydyidz dzadyadzy (4.56)

gobooooboonD 1,2000 o,z 0000000000 o, 000000 0OO0OO
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1 1 1
Udoodxz = 5(901 +x2), Yo = §(y1+y2), zZ0 = 5(21 + 29)
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O00d0dd Jacobian O 1000000O0OCOOODOOOO
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